sys-order!34°

sys-order(es; Sys; f)
=def Val, blE(SyS)
ay is fx(by)
= (Vag, ba:E(Sys).
a9 is f*(bg)
= (a1 <loc CLQ)
= (—ay is f*(az))
= (loc(by) = loc(bz))
= (b1 <loc bg))

clarification:

sys-order(es; Sys; f)
=g4ot Vaj:es-E-interface(es;Sys), by:es-E-interface(es;Sys).
fun-connected(es-E-interface(es;Sys); f;b1;a1)
= (Vag:es-E-interface(es;Sys), bo:es-E-interface(es;Sys).
fun-connected (es-E-interface(es;Sys); f;b2;a2)
= es-locl(es; a1; az)
= (—fun-connected (es-E-interface(es;Sys); f;a2;a1))
= (es-loc(es; by) = es-loc(es; by) € 1d)
= es-locl(es; by; ba))
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